LS-120Hi 1l

POWER SUPPLY

This calculator comes with a dual power source. The alkaline battery is long lasting,

however the battery life will depend on usage.

(Note : Do not attempt to change the battery. Please have a Canon Service Center
technician change the battery. )

@ Electromagnetic interference or electrostatic discharge may cause the display to
malfunction or the contents of the memory to be lost or altered. Should this occur,

press the key and re-start your calculation from the beginning.

OVERFLOW FUNCTION

In the following cases, when "E" is displayed, the keyboard is electronically locked, and

further operation is impossible. Press to clear the overflow.

The overflow function occurs when:

1. The result or the memory content exceeds 12 digits to the left of the decimal point.
2. Dividing by "0".

SPECIFICATIONS

Power Source: Solar cell and alkaline battery (LR44 x 1)
Automatic power-off function: Approx. 7 minutes

Usable Temperature: 0°C to 40°C

Dimensions: 140mm (L) x 105mm (W) x 32mm (H)
Weight: 122 g

(Subject to change without notices)
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CUT AS SHOWN

INSIDE THE BOX.

ON THE BACK TO SEE THE

CALCULATION EXAMPLE AND IMPORTANT NOTES

CALCULATION EXAMPLE / H|AF o |

CALCULATION / Al

OPERATION / 35

DISPLAY / C|AZ#o|
EREAE

¥ Mixed /Z &7l ( 0.)
2x2@3=6 2@32@H3 B8 ( 6.
= | -7o=-63 TDE B8 ( —-63.)
(2+4)+3x8.1=16.2 2O/ @3mso 8 | ( 16.2)
| |v Power, Fraction /H&, E4/4%
= 3 =27 3@ B8 8 ( 27.)
12=05 2@ 8 ( 05)
¥V Reverse / &
10+5=2
e 1035 &) B ( 0.5)
5+10=05
¥ Mark-up/mark-down / 712 el&l/712{ oI5t
Mark up : Cost = $2,000
Profit=20% of selling price
Selling price = ? ($2,500) 2000 &3 20 MY ( 2500.)
) Profit = 2 ($500) (Mu) ( 500.)
Mark down :
Selling price = $2,400
Profit = 20%
Cost = ? ($2,000) 2400 63 20 =] M) ( 2'000.)
Profit = ? ($400) @ ( 400.)
v Grand Total /| &7 ( 0.)
30 x40 = 1,200 30 B3 40 B (e7 1'200.)
+ 50 x 60 = 3,000 50 €8 60 B3 (et 3'000.)
4,200 (o 4'200.)
+) 235x35= 8,225 235 €3 35 B (er 8225.)
12,425 (Recall Grand Total / &4 £&) (er 12'425.)
(GT) (Clear Grand Total /&4 47) ( 12'425.)
¥ Memory / 28| ( 0.)
3x 4=12 303 4 (M 12.)
-) 6+02= 30 6E 0D 2 W3 M 30.)
B -18 (M -18.)
200 M 200.)
182 (Em/cw) (Recall Memory /o 22| 2&) | (M 182.)
(Clear Memory /H|=2] 2H) ( 182.)

Vv Overflow /| 2HEZS
123456789x78900=
9740740652100
(ERROR/ 2%)
6:0=0
(ERROR / 28)

123456789 E@ 78900 B2

6@ 08

(¢ 9.74074065210)
( 9.74074065210)




